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(4.10) | (3.35) (4.78) (14.80) (7.95) (4.92) (6.89) (16.14) (4.57) | (4.51) (13.13) (20.83)
‘ - ‘ - ‘ - ‘ ~ ‘ ~ - 0.5 gﬂfmeo
FH=46.025 - \ \ \ ‘ I |

NO.3
< \,Il N0.3+16.00 /  NO.4
NO.2 NO.2+8.00 FH=46.818 <: <: <:

NO.1 NO.1+5.00 FH=46.538 FH=46.650 FH=46.990 FH=47.030
FH=46.290 FH=46.350
(9 600)
NO .4 L=13.6m
. DL=30.000
6o— - s — - — - — — — — — — — = >— — - — — — — — — — — — —— — — — — —— — —— =)
20 000 13 992 6 008 16 000 4 000 20 000 20 000
L=22.1m L=130.7nm
1 L=22.1m 1 L=130.7n
PU-3(B300*H300) L=88.7n PU-3(B300*H300) L=139.0m
20 000 12 500 1492 3 008 3 000 10 000 4 500 800 700 3300 1500 5 000 13 500 20 000 |
(19.67) (12.25) 1.47 (10.05) (4.53) 700 | (3.33) (1.51) (5.04) (13.11) (17.58)
= | = = S = | ‘ < ‘ — NO.11 ‘ ~
: S T~ | ’ - " _
\OL6 NO.7 ‘ ‘ | = S ‘ FH=48.800 ‘ FH=49.269 ‘
FH=47.460 \ FH=47.870 \ | | | ‘ - o | | \
) . . | I =
| | | ‘
7 — — —— | —— A ‘
<|':| EC.3 NO.§, N0.8+16.00 /  NO.9
FH=48.095 FH=48.140 < ,il FH=48.241 FH=48.298 < ":| <\’:| ::>
‘ 1 H (¢ 600) 1-708-3
O.\ L=6.4n
Z\ $=1:200
bL=35.000 . DL=35.000
= ;‘E? ™~ S
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36




$=1:200

- —— e — 5 — — — —— — — — — — 5 — — — — —— — ——— — & — — — — — — — — — O ———— ————— )
20 000 5 000 15 000 8 000 12 000 16 000 4 000 20 000 20 000
1 L=64.3n 2 L=52.3n _
2 (BC ) L=19.8m 1 (BC ) L=18.1nm 2 (BC ) L=20.4n 1 (BC ) L36.0m
L=18.1nm L=6.0m L=6.5m
L=18.1nm L=6.0m
15 500 4 500 5 000 10 000 5 000 5 000 3000 2 000 3 000 7 000 13 000 3 000 3 0001000 6 500 1,000 12 000 20 000
(4.36) (5.21) (10.19) (3.04) [(2.03)] (3.04) (7.21) (13.22) 500 (11.94)
NO.6
.3+16. NO.4 NO.5
NO.1 NO. 145.00 NO.2 N0.2+8.00 0.3 0. 34160 . FH=47.330 FH=47.560
FH=46.088 FH=46.390 \ FH=46.450 \ _ 638 \ \\\\
‘ ‘ H\\I\ S | | | | = ‘ o = io L I | |
DL=35.000 . DbL=35.000
o s - — — — — — - — 5 — — — — — — — —— — & — — Y — — — — — — ——— — — — — —— —— — )
20 000 13 992 6 008 16 1000 4 000 20 000 20 000
L=52.3nm 1 L=276.8n
2 (BC ) L=28.2m 3 (BC ) L=17.4m 2 (BC ) L=125.7n
L=17.4n
L=17.4n
20 000 13 992 6 008 8 000 7000 1000 4 000 5 500 14 500 20 000
(20.33) (14.27) (7.96) (6.95) (3.97) (5.46) (15.24) (23.48)
0,10 \0.11
NO.7 EC.3 NO.8 NO.8+16.00 | NO.9 43,6900 FH=49.365
NO.6 FH=47 970 FH=48.195 FH=48 . 240 FH=48.341 FH=48.398
FH=47.560 : \ \ \\\\
_ 1
| ] | S
| | ‘ S o | o
DL=35.000 . DbL=35.000
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(NO.8 )

§=1:100 S§=1:50
(200x 200)

(200% 200) A=152.7m2(L=248.4n)

3 000 1 500 6 000 11 300
[Ye) [¥e) o [ee) o
> ~ : S - | 1 500 | 1 500 |
~ + + +
: E : \ \ \
= = = = 200 1300 200 1300 200
0 0
13x 500=1 500/ [3x 500=1 500
D16 L=750
(e
O
D16 L=750
o o
o o
[qN] o
o D10 L=400
y S = D10 L=400
S
o o (1) p13
o o
N o
(t=3cm)
(e
X o
$=1:20 $=1:20 A $=1:20
(FI00 )
| L
| |
| |
| |
<:> D13x L
S
S
RV
No. 0.2 No. 0.2 §=1:20
T1 | 12.46 0.40 | 12.06 Y1 | 21.65 3.20| 18.45 (200% 200) W — (t=3cn) 20, D10 L=400
T2 1.61 0.00, 1.61 Y2 | 19.89 2.80| 17.09 :
T3 7.66 0.00| 7.66 Y3 18.13 2.80| 15.33 152.7 m2
T4 | 12.09 0.00 12.09 Y4 | 16.37 2.40| 13.97 1.1 n3 @ @
TS | 11.90] 0.00] 11.90 Y5 | 14.61] 2.20] 12.41 o P D13 D13
T6 | 11.20| 0.00]| 11.20 Y6 | 12.85| 2.00]| 10.85 (t=5cm) o 0 o ::j3 o ::33
T7 | 10.49 0.00 | 10.49 Y7 | 11.09 1.60 | 9.49 ~ /| ~ /
T8 9.79 0.00| 9.79 Y8 9.33 1.60| 7.73
T9 8.94 0.00| 8.94 Y9 7.18 1.20] 5.98 200 200
T10 7.71 0.00, 7.71 Y10 4.33 1.00 3.33
T11 6.48 0.00 | 6.48 Y11 1.74 0.60| 1.14
T12 5.25 0.00 5.25 (n) 115.77
T13 4.02 0.00 4.02 (n) 248.43
T14 2.79 0.00, 2.79
T15 1.56 0.00, 1.56
T16 | 21.31 2.20 19.11
(m) 132.66
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$=1:50 $=1:20 $=1:50 PU-3 $=1:20

(5=1:0.5) (5=1:0.5, t=15cm) (B300-H300)
100 450 220 -
| 1.0m 110 300 110
/ /;; " 50. 5[5 55 50 o
ock 18N/mm2 d?/ - (m) (m2) (m3) % T
TS q=10KN/m2 Ts N / Yo ) 2 2.000 1.34 0.39 =3 ‘ N , q=10KN/mn2 402
S| © o o ~ o 2.100 1.45 0.45 o T
° = o . 2 155
- = 2.200 1.57 0.50 S
= 2.300 1.68 0.56 ot S FW
;1 il - 2.400 1.79 0.61 =)
- S | | 40 S 2.500 1.90 0.67 104 160 Loc S
750 Z _ 2.600 2.01 0.73 | 560 | RC-40
ock 18N/mm2 S 2.700 2.12 0.78
10.0m > 2.800 2.24 0.84
2.900 2.35 0.89
1.01 3 3.000 2.46 0.95 0. 0n
(H) (1) 3.25 M2 3.100 2.57 1.01
1.1n<H 1.5n t=150mn 0.10 m2 o 3.200 2.68 L.06 5.0
1.5m<H 3.0m t=100mn 7.50 2 g 3.300 280 1.12 5.60 n2
3.0m<H 5.0m t=150mn U 3400 2.91 L.17 0.11 n3
3.500 3.02 1.23 0.01 n3
3.600 3.13 1.29 18.0
V=Ax 0.22(n3) 3.700 3.24 1.34 (T-25) 1.0
V=Ax 0.424(n3)
A 3.800 3.35 1.40
A 3.900 3.47 1.45
4.000 3.58 1.51
L.On 4.100 3.69 1.57
i ( ) 4.200 3.80 1.62
(m) (n2) (n3) t=100mm (m3) | t=150mm (m3) (m3) ( m2) 4 300 3 01 L o8
1.100 0.56 0.12 0.12 0.00 4 400 ' 0 73
1.200 0.67 0.15 0.13 0.03 4 500 ' 14 T
1.300 0.78 0.17 0.15 0.06 4 500 s 25 ny
1.400 0.89 0.20 0.17 0.09 4 700 s 36 L 00
1.500 1.01 0.22 0.12 0.18 0.13 §=1:20 2 500 e Y
1.600 1.12 0.25 0.13 0.20 0.16 4 900 s 5 ) 01
1.700 1.23 0.27 0.14 0.22 0.20 5 000 ' 70 ) 07
1.800 1.34 0.30 0.15 0.23 0.23 200 900
1.900 1.45 0.32 0.17 0.25 0.27 < Z'izz j'zi i'iz
2.000 1.57 0.34 0.18 0.27 0.31 /// 053 5'300 5'03 2'24
2.100 1.68 0.37 0.19 0.28 0.35 / ‘ ‘ [/ @ ek 18N/nn2 5-400 5-14 2-29
2.200 1.79 0.39 0.20 0.30 0.39 S 16) p 5 500 5 26 ) 35
2.300 1.90 0.42 0.21 0.32 0.43 . L=500 2 5 500 5 a7 ) 20
2.400 2.01 0.44 0.22 0.33 0.47 N S21:5 5 700 _ ) 16
2.500 2.12 0.47 0.23 0.35 0.52 Sf 5 500 . ) 59
2.600 2.24 0.49 0.24 0.37 0.56 2.24 ~y 5 900 - ) 57
2.700 2.35 0.52 0.25 0.38 0.61 2.35 5 000 5 81 ) 63
2.800 2.46 0.54 0.27 0.40 0.65 2.46 RC-40 49g 1 100 10 5 100 5 03 ) o
2.900 2.57 0.57 0.28 0.42 0.70 2.57 1 300 5 200 5 04 ) 74
3.000 2.68 0.59 0.29 0.43 0.75 2.68 5 300 o 1 ) 80
3.100 2.80 0.61 0.45 0.80 2.80 5 400 o 26 ) 85
3.200 2.91 0.64 0.47 0.85 2.91 5 500 o 37 ) o1
3.300 3.02 0.66 0.48 0.90 3.02 5 500 o 4 ) o6
3.400 3.13 0.69 0.50 0.95 3.13 5 700 5 60 5 0
3.500 3.24 0.71 0.52 1.01 3.24 5 500 I s 0
3.600 3.35 0.74 0.54 1.06 3.35 ! (:) (:) ! 5 900 6 82 3 13
3.700 3.47 0.76 0.55 1.12 3.47 I I 7:000 6:93 3:19
3.800 3.58 0.79 0.57 1.17 3.58 | | . 100 _ s 24
3.900 3.69 0.81 0.59 1.23 3.69 2 200 e 3 30
4.000 3.80 0.84 0.60 1.29 3.80 | | 300 . 3 3
4.100 3.91 0.86 0.62 1.35 3.91
O O 7] LT R
4.300 4.14 0.91 0.65 1.47 4.14 | | 500 - s 55
4.400 4.25 0.93 0.67 1.53 4.25 (016) (016) 7:700 7:71 3:58
4.500 4.36 0.96 0.69 1.60 4.36 10.0m 7 800 - 3 63
4.600 4.47 0.98 0.70 1.66 4.47 900 . s 6o
4.700 4.58 1.01 0.72 1.73 4.58 .41 m3 5 000 5 05 A 1-708-3
4.800 4.70 1.03 0.74 1.79 4.70 6.20 n2
4.900 4.81 1.06 0.75 1.86 4.81 0.34 m2
5.000 4.92 1.08 0.77 1.93 4.92 13.00 m2
(D16) 18.72 kg
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§$=1:50

(5=1:0.5)

5 000)

H(300

o ck 18N/mm2

V=0.04m3
I T
o
P
) ock 18N/mm2
V=Ax 0.22(mn3)
A
)
(H) (t)
H 1.5nm t=50mm
1.5m<H 3.0m t=100mm
3.0m<H 5.0m t=150mm
5.0m<H 7.0m t=200mm

1.0m
H
(m) (n2) (n3) t=50mm (m3) | t=100mm (m3) | t=150mm (n3) | t=200mm (n3) (n3) ( m2)
0.300 0.34 0.07 0.03
0.400 0.45 0.10 0.03
0.500 0.56 0.12 0.04
0.600 0.67 0.15 0.04 0.03
0.700 0.78 0.17 0.05 0.06
0.800 0.89 0.20 0.05 0.09
0.900 1.01 0.22 0.06 0.12
1.000 1.12 0.25 0.06 0.15
1.100 1.23 0.27 0.07 0.18
1.200 1.34 0.30 0.08 0.21
1.300 1.45 0.32 0.08 0.24
1.400 1.57 0.34 0.09 0.27
1.500 1.68 0.37 0.09 0.19 0.30
1.600 1.79 0.39 0.20 0.33
1.700 1.90 0.42 0.21 0.36
1.800 2.01 0.44 0.22 0.39
1.900 2.12 0.47 0.23 0.42
2.000 2.24 0.49 0.24 0.45 .24
2.100 2.35 0.52 0.25 0.48 .35
2.200 2.46 0.54 0.27 0.51 .46
2.300 2.57 0.57 0.28 0.54 .57
2.400 2.68 0.59 0.29 0.57 .68
2.500 2.80 0.61 0.30 0.60 .80
2.600 2.91 0.64 0.31 0.63 .91
2.700 3.02 0.66 0.32 0.66 .02
2.800 3.13 0.69 0.33 0.69 .13
2.900 3.24 0.71 0.34 0.72 .24
3.000 3.35 0.74 0.36 0.53 0.72 0.75 .35
3.100 3.47 0.76 0.55 0.74 0.78 A7
3.200 3.58 0.79 0.57 0.76 0.81 .58
3.300 3.69 0.81 0.58 0.78 0.84 .69
3.400 3.80 0.84 0.60 0.81 0.87 .80
3.500 3.91 0.86 0.62 0.83 0.90 .91
3.600 4.02 0.89 0.63 0.85 0.93 .02
3.700 4.14 0.91 0.65 0.87 0.96 .14
3.800 4.25 0.93 0.67 0.89 0.99 .25
3.900 4.36 0.96 0.69 0.92 1.02 .36
4.000 4.47 0.98 0.70 0.94 1.05 A7
4.100 4.58 1.01 0.72 0.96 1.08 .58
4.200 4.70 1.03 0.74 0.98 1.11 .70
4.300 4.81 1.06 0.75 1.01 1.14 .81
4.400 4.92 1.08 0.77 1.03 1.17 .92
4.500 5.03 1.11 0.79 1.05 1.20 .03
4.600 5.14 1.13 0.80 1.07 1.23 .14
4.700 5.25 1.16 0.82 1.10 1.26 .25
4.800 5.37 1.18 0.84 1.12 1.29 .37
4.900 5.48 1.21 0.85 1.14 1.32 .48
5.000 5.59 1.23 0.87 1.16 1.35 .59
5.100 5.70 1.25 1.19 1.38 .70
5.200 5.81 1.28 1.21 1.41 .81
5.300 5.93 1.30 1.23 1.44 .93
5.400 6.04 1.33 1.25 1.47 .04
5.500 6.15 1.35 1.27 1.50 .15
5.600 6.26 1.38 1.30 1.53 .26
5.700 6.37 1.40 1.32 1.56 .37
5.800 6.48 1.43 1.34 1.59 .48
5.900 6.60 1.45 1.36 1.62 .60
6.000 6.71 1.48 1.39 1.65 .71
6.100 6.82 1.50 1.41 1.68 .82
6.200 6.93 1.52 1.43 1.71 .93
6.300 7.04 1.55 1.45 1.74 .04
6.400 7.16 1.57 1.48 1.77 .16
6.500 7.27 1.60 1.50 1.80 .27
6.600 7.38 1.62 1.52 1.83 .38
6.700 7.49 1.65 1.54 1.86 .49
6.800 7.60 1.67 1.57 1.89 .60
6.900 7.71 1.70 1.59 1.92 .71
7.000 7.83 1.72 1.61 1.95 .83

1 $=1:20
(5=1:0.5, t=20cm)
100 §;o
) /
/ /.
ock 18N/mm2 / Q/
/'\/
/ 7'/
E @ o
= =
700 RC-40
10.0m
1.48 n3
4.50 m2
0.15 m2
7.00 m2
2 $=1:20
(5=1:0.5, t=15cm)
100 ;{o
o ck 18N/mn2 / 47
>
i =

100

650 RC-40
10.0m
1.27 nm3
4.20 m2
0.13 m2
6.50 m2

§=1:20

200
ock 18N/mnm2
S rd
<
50 200 5(
300 RC-40
10.0m
0.80 m3
8§.00 m2
0.08 m2
3.00 m2
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600

600

1 (BC ) s=1:30
400
5 B 100 i i
80 80
- = | | =
<t |
S |= e 1 e =
(o]
50 1 900 50
q=10KN/m2/ 2 000
o| 2
I [9 ;
o
= /! o
S \ 18
B S
2 000
C=170kg/m3 50 1 900 50
o
: | JolL__ |
o
o (
m \
750 400 750
10.0m
) [ZL(m)| B(mm)
BC 2 4 | 1900 | 5.0 0.13 n3| 0.24 m2| 0.40 m3| 2.10 m3| 2.34 m2|13.52 m2
BC 3 6 | 1400 | 5.0 0.11 n3| 0.23 m2| 0.30 m3| 1.60 m3| 2.34 m2| 8.52 m2
BC 4 8 | 1200 | 5.0 0.10 n3| 0.22 m2| 0.26 m3| 1.40 m3| 2.34 m2| 6.52 m2
sc| BC 5 10 | 1100 | 5.0 0.09 m3| 0.22 m2 | 0.24 m3| 1.30 m3 | 2.34 m2 | 5.52 n2
BC 6 12 | 1000 | 5.0 0.00 n3| 0.22 m2| 0.22 m3| 1.20 m3| 2.34 m2| 5.42 m2
BC 7 14 | 900 | 5.0 0.09 m3| 0.22 m2| 0.20 m3| 1.10 m3 | 2.34 m2 | 3.52 n2
BC 8 16 | 900 | 5.0 0.09 n3| 0.22 m2| 0.20 m3| 1.10 m3| 2.34 m2| 3.52 m2
BC 9 18 | 800 | 5.0 0.08 n3| 0.20 m2| 0.18 m3| 0.91 m3| 2.34 m2| 2.52 m2
BC 10 | 20 | 800 | 5.0 0.08 n3| 0.20 m2| 0.18 m3| 0.91 m3| 2.34 m2| 2.52 m2
§=1:20
( 6r-C-2B)
2 000 2 000
o e S
o o o o
o o o o
<t o o <t
o
= = =4 E— B
o «© M
o
o
o
~ i
10.0n
£0.00 n
0.01 n3
0.02 n3

2 (BC ) s=1:30
400
B 100 I
400 50 | | 80
o 0 N £
o
<t
S \BE—ll—H
[co]
50 1 900 50
q=10KN/m2 2 000
()
2 J le o
2 V
o
§—| N (l
2 000
C=170kg/n3 50 1900 50
RC-40
o
=1
[ee)
m ];j/
750 400 750
10.0m
NC ) [ZL(m)| B(mm)
BC 2 4 | 1900 5.0 0.13 m3 | 0.24 m2| 0.42 m3 | 2.10 m3| 2.00 m2| 21.00 m2
BC 3 6 | 1400 5.0 0.11 m3 | 0.23 m2| 0.32 m3 | 1.60 m3| 2.00 m2| 16.00 m2
BC 4 8 | 1200 5.0 0.10 m3 | 0.22 m2| 0.28 m3 | 1.40 m3| 2.00 m2| 14.00 m2
sc| BC 5 10 | 1100 5.0 0.09 m3 | 0.22 m2| 0.26 m3 | 1.30 m3| 2.00 m2| 13.00 m2
BC 6 12 | 1000 5.0 0.09 m3 | 0.22 m2| 0.24 m3| 1.20 m3| 2.00 m2| 12.00 m2
BC 7 14 900 5.0 0.09 m3 | 0.22 m2| 0.22 m3| 1.10 m3| 2.00 m2| 11.00 m2
BC 8 16 900 5.0 0.09 m3 | 0.22 m2| 0.22 m3| 1.10 m3| 2.00 m2| 11.00 m2
BC 9 18 800 5.0 0.08 m3 | 0.21 m2| 0.20 m3 .00 m3 | 2.00 m2| 10.00 m2
BC 10 20 800 5.0 0.08 m3 | 0.21 m2| 0.20 m3 .00 m3 | 2.00 m2| 10.00 m2
2 $=1:20
( 6r-C-4E)
4 000 | 4 000
|
T =
- |
o ' o
[{e)
- | |
e .
o ‘ ‘
o
< .
0 114.3X4.5

$=1:30
400
5 B 100 ii
80 80
- L R L
o
<t |
o | t V. | | \ j |
[co]
50 1 900 50
q=10KN/m2/ 2 000
ol 3
I - [9 ;
ol = v
2 | =
2000
C=170kg/n3 50 1900 50
: | Jo
o
=~ o
= (
m \
400 750
10.0m
NC ) [ZL(m)|B(mm)
BC 2 4 | 1900 | 5.0 0.07 0.18 m2 | 0.40 m3 | 2.10 n3| 2.34 n2
BC 3 6 | 1400 | 5.0 0.07 0.18 m2 | 0.30 m3 | 1.60 n3| 2.34 n2
BC 4 8 | 1200 | 5.0 0.07 0.18 m2 | 0.26 m3 | 1.40 n3| 2.34 n2
sc| BC 5 10 | 1100 | 5.0 0.07 0.18 m2 | 0.24 m3 | 1.30 n3 | 2.34 n2
BC 6 12 | 1000 | 5.0 0.07 0.18 m2 | 0.22 m3 | 1.20 n3| 2.34 n2
BC 7 14 | 900 | 5.0 0.07 0.18 m2 | 0.20 m3 | 1.10 n3| 2.34 n2
BC 8 16 | 900 | 5.0 0.07 0.18 m2 | 0.20 m3 | 1.10 n3| 2.34 n2
BC 9 18 | 800 | 5.0 0.07 0.18 m2 | 0.18 m3 | 0.91 n3| 2.34 n2
BC 10 20 | 800 | 5.0 0.07 0.18 m2 | 0.18 m3 | 0.91 n3| 2.34 n2
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1 000 1 000

2 000

2.0m : 1.0m+1.0m

1.0
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